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NEfrz BB S ouT I N GROSS HDCP NET
{25 RE #%9 47 44 o1 25 66
214 B I8 45 42 87 20 67
311 0 Bt 35 38 73 5 68
4 i B 44 41 85 17 68
5z B &= 36 43 79 10 69
6 i Bl =17 47 43 90 20 70
7 TR H 48 49 or 27 70
8 fu INFR BERR 45 40 85 14 71
o fu =i Bi= 40 40 80 9 71
10 {1z i 29 39 40 79 8 71
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(=3 v FHIRBE ouT I N GROSS HDCP NET
{Bs WE 58 41 37 78 84 69.6
211 WA [E3 42 42 84 144 69.6
31 MR XX 38 41 79 84 706
411 0 X5 44 39 83 96 734
51 ANIF %53 43 49 92 18 T4
6 i Si% SHF 20 46 96 216 4.4
71 PR B2 45 44 89 144 746
8 i =i Bi= 43 39 82 72 748
9 fu ik BZ 45 43 88 12 76
10z W ES 48 47 95 18 77
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